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M.A. (Fourth Semester)
EXAMINATION, May-June, 2022

(Rural Development)
Paper Second

(Natural Resources and Sustainable Development)

Time : Three Hours] [Maximum Marks:80
[Minimum Pass  Marks :17]

    

Note : Attempt all sections as directed.

(Section-A)

(Objective/Multiple Choice Questions)

(1 mark each)

    

Note : Attempt all questions.

  

Choose the correct answer.

P.T.O.
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1. The natural resources which are found in abundance in
Chhattisgarh state are...............

(A) Forest Resources

(B) Minerals Resources

(C) Water Resources

(D) Gas Resources


 

(A)  

(B)  

(C)  

(D)  

2. Which of the following is not sustainable goals?

(A) Gender equity

(B) Climate action

(C) Protection of Ozone layer

(D) Life below water

?

(A)  

(B)   

(C) 

(D)    



[3]

F - 927 P.T.O.

3.  What are the primary goals of sustainability?

(1) The end of poverty and hunger.

(2) Better standards of education and healthcare- par
ticularly as it pertains to water quality and better
sanitation.

(3) To achieve gender equality.

(4) Sustainable economic growth while promoting jobs
and stronger economies.

Code :
(A) 1,2 & 3

(B) 1,2 & 4

(C) 1 & 3

(D) 1, 2, 3 & 4

 ?

(1)  

(2) 


(3)    

(4)     
  



(A) 1,2  3

(B) 1,2   4

(C) 1  3

(D) 1, 2, 3  4
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4. Which of the following are goals to be achieved under
millennium development goals?
(1) To eradicate extreme poverty and hunger.

(2) To achieve universal primary education.

(3) To promote gender equality.

(4) To eradicate civil war.

(5) To reduce child morality.

Code :
(A) 1,3 & 5

(B) 1, 2, 4 & 5

(C) 1,2,3 & 5

(D) All of the above


  ?

(1)   

(2)     

(3)     

(4)   

(5)  



(A) 1,3  5

(B) 1,2,4   5

(C) 1,2,3  5

(D) 
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5. Which of the statement is correct about solar energy?

(A) It is a renewable and conventional source of energy.

(B) It is a non-renewable and non-conventional source
of energy.

(C) It is a renewable and non-conventional source of
energy.

(D) It is a non- renewable source of energy.

  ?

(A)  

(B)  


(C)  

(D)   

6. Deforestation takes place by:

(A) Human Activities

(B) Only by Natural Resources

(C) Both of these

(D) None of these

   

(A)  

(B)    

(C) 

(D) 

P.T.O.
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7. Identify the correct sequence of continents in decreas-
ing order of their yearly carbon dioxide emmissions. at
present.

(1) Africa

(2) Asia

(3) Europe

(4) North America

Choose the correct answer from the option given below:

(A) 2,4,1,3

(B) 2,4,3,1

(C) 4,2,3,1

(D) 4,3,2,1

        
      

(1) 

(2) 

(3) 

(4) 

  

(A) 2,4,1,3

(B) 2,4,3,1

(C) 4,2,3,1

(D) 4,3,2,1
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8. Which of the following ultraviolet rays is more danger-
ous?

(A) UV-A

(B) UV-C

(C) UV-B

(D) None of the above

?

(A) 

(B) 

(C) 

(D)  

9. According to 1878 Act which of the following categories
of forests is considered as the best on the basis of their
utility?

(A) Protected forests

(B) Reserved forests

(C) Village forests

(D) Community forests

 
   

(A)  

(B)  

(C) 

(D)  
P.T.O.
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10. Increase of concentration of the toxicant at successive
tropic level is known as..........

(A) Biomagnifications

(B) Biodeterioration

(C) Biotransformation

(D) Biogeochemical cycling


     

(A)  

(B) 

(C) 

(D)   

11. A scrubber in the exhaust of a Chemical industrial plant
removes................

(A) Gases likes sulphur dioxide

(B) Particulate matter of the size 5 micrometer or above

(C) Gases like ozone and methane

(D) Particulate matter of size 2.5 micrometer or less

        


(A)    

(B)      


(C) 

(D) 
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12. Which option explains the disadvantage of using fossil
fuel as energy sources?

(A) It releases harmful gases into the atmosphere when
they  burn.

(B) It is extracted from deep inside the earth.

(C) It uses oxygen in the process of burning.

(D) It is hard to transport.


  ?

(A) 

(B)    

(C)     

(D)    

13. In which year was the Wildlife Protection Act implemented
in India?

(A) 1952

(B) 1962

(C) 1972

(D) 1982

    
?

(A) 1952

(B) 1962

(C) 1972

(D) 1982

P.T.O.
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14. Which of the following options is not incorporated as sus-
tainable development parameters?

(A) Gender disparity and diversity

(B) Inter and intra-generational equity

(C) Carrying capacity

(D) None of the above


?

(A)    

(B)    

(C) 

(D)  

15. Deforestation...........

(A) Leads to localized flooding.

(B) Reduces sustainable logging potential.

(C) Reduces watershed stability.

(D) Augments carbon restoration provided by forest.

   

(A)  

(B)    

(C)     

(D)        
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16. Which of the following is correct, if we only achieve two
out of three pillars of sustainable development?
(A) Social + Economic Sustainability=Equitable

(B) Social + Environmental Sustainability=Bearable

(C) Economic + Environmental Sustainability=Viable

(D) All of the above


?

(A) +  = 

(B) += 

(C) + = 

(D) 

17. Consider the following statement(s) related to
sustainability.
(1) It refers to a process or state that can be maintained

indefinitely.

(2) Natural resources must use in ways that do not cre-
ate ecological debts by over-exploiting the carrying
and productive capacity of the earth.

(3) A minimum necessary condition for sustainability is
the maintenance of the total natural capital stock at
or above the current level.

Code:
(A) Only 1

(B) Only 2

(C) Only 2 & 3
(D) 1,2 & 3

P.T.O.
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

(1)   
    

(2) 
    
   

(3) 





(A)  

(B)  

(C)  

(D) 1, 2   3
18. The main cause for abundant coli form bacteria in the

river Ganga is...........
(A) Disposal of human excreta directly
(B) Discharge of effluents from electroplating industries

(C) Washing of clothes

(D) Immersion of ashes

    
 

(A)     

(B)      

(C)  

(D)   
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 The impact of noise pollution on human health is
      governed by:

(1) Intensity of noise

(2) Duration of noise

(3) Socio- economic  status of an individual

(4) Sensitivity of human ear

(5) Frequency range of noise

Code :

(A) 1, 2, 4 & 5 only

(B) 1, 2 & 3 only

(C) 1, 3, 4 & 5 only

(D) 1, 2, 3, 4 & 5



(1)   

(2)   

(3)    

(4)    

(5)   



(A)  

(B)  

(C)   

(D) 

P.T.O.
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 The species whose population has declined to a level
      from where it is likely to move into the endangered
      category in the near future if the negative factors con-
tinue  to operate are called:

(A) Endemic species

(B) Extinct species

(C) Vulnerable species

(D) Normal species



  

(A)  

(B)  

(C)  

(D)  

(Section-B)

(Very Short Answer Type Questions)

(2 marks each)

Note:  Attempt all questions. Give answer in two or three
sentences.

     

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  What is joint forest management?

    ?

What is Non-Conventional source of energy?

 ?

What do you mean by community forest?

    ?

 What is eco-development plants?

  ?

Which natural resources is main source of revenue in
    Chhattisgarh?


?

6.  What is greenhouse gas?

?

What do  you mean by millennium development goals?

 ?

Write four major sources of bio gas in Chhattisgarh.

  

P.T.O.
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(Section-C)

(Short Answer Type Questions)

(3 marks each)

Note: Attempt all questions. Write answer in 75 words.

    

 Write note on traditional management of water resources
with the special reference to Chhattisgarh.


 

 What is Paris climate agreement? What is India's Na-
tionally Determined contribution?

         
?

 What do you mean by Global Warming? Write important
steps taken by Indian government to reduce Global
Warming?

     ?    
         

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 What is Soil Erosion? Write traditional methods to
reduce Soil Erosion.

 ?     
  

 Why Natural Resources are necessary for development
of any country? Write their importance.


?   

6. Name the  flagship programme of Chhattisgarh govern-
ment by which they want to achieve the target of SDG
no.-12 and how?



?

 Write the short notes on:

(a) Water Pollution

(b) Soil Pollution

  

(a)  

  (b) 

P.T.O.
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 Explain the concept of ESP(Equality, Sustainability and
Peace).

       
 

(Section-D)

(Long Answer Type Questions)

(5 marks each)

Note: Attempt all questions. Write answer in 150 words.

    

  Write an essay on: Environment vs. Development (with
    the special references of Chhattisgarh)

      


What is Forest Policy? Explain the importance of Forest
     Policy?

?  ?

What is the concept of Sustainable Development?
     Explain various SDGs.

    ? 
 
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4. What do you means by Afforestation? Describe the meth-
ods and importance of Afforestation.

? 
  


